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12,908

2
5,460.771
18,368.771 13
1 91
2 214
3 155
4 19
5 70
6 77
7 97.876
8 69
9 12.857
10 270
11 50.849
12 24
13 944.581
14 319.580
15 97
16 79.957
17 868
18 98
19 98
20 82
21 124
22 97
23 27
24 31
25 438
26 134
27 22
28 353.243
29 312.756
30 49.072
31 135
1 12
2 1
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3
19.077
125.077
1 7
2 1
3 3.123
4 7.954
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4
386
1,558
1 325
2 33
3 10
4 18
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5
848.166
3,355.166
1 34
2 780
3 5
4 9.013
5 8.011
6 0
7 3
8 0
9 0
10 0
11 2.142
12 2
13 1
14 1
15 0
16 1
17 2




1,531

6
926.375
2,457.375
1 9%
2 68
3 25
4 4
5 1
6 4
7 87.042
8 201
9 4
10 307
11 9
12 0
13 13
14 17.333
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1 24
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3 22
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5 2
6 10
7 1
8 1
9 6
10 3
11 8
12 7
13 5
14 2
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1 36
2 2
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1,229.524
8,506.524
1 124
2 51
3 17
4 15
5 235
6 33
7 7
8 67
9 10
10 12
11 73.827
12 3
13 7
14 70
15 8
16 3
17 88
18 9
19 229
20 28
21 122
22 17.697
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